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n 93 0= 91 — 90 91 (:l:ll) 90(:|:1I) N

1.700 | 59.53° 4+ 0.02° 60°57 60°57 0° 1

1.704 | 59.60° + 0.02° 60°48' 60°48’ 0° 2

1.700 | 59.53° 4+ 0.02° 60°56 60°56 0° 3
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tan Qeomp tan Qegp a=aoy—a(£1°) | a1(£1°) | ap(£1°) | 0(£1°)
—0.44 —0.32£0.03 —18° 45° 63° 40°
—0.18 —0.21 £0.03 —12° 51° 63° 50°
—-0.05 —0.18 £0.03 —10° 93¢ 63° 55¢
—0.09 —0.11 £ 0.03 —6° 57° 63° 60°
0.15 —0.05£0.03 -3¢ 60° 63° 62°
0.2 —0.03 £0.03 —2° 61° 63° 64°
0.26 0.03 +0.03 2° 65° 63° 66°
0.37 0.05 +=0.03 3¢ 66° 63° 70°
0.66 0.16 = 0.03 9° 72° 63° 80°
1.00 0.32 +0.03 18° 81° 63° 90°
1.52 0.42 + 0.03 23° 86° 63° 100°
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